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Q.1

Q.2

Q3

Q.4

" {c) 4.0MPa

A beam whose eftective span is I, affective
dspth is 'd and overall depth is "D, shall be
deemed (o be a deep beam when the ralio of

~

1. = is less than 2.0 lor a simply supported

Q

beam

{ .
2. 15} is less than 2.0 lor a continuous beam

!
3. r is less than 2.5 for a simply supported

beam

!
4. ) is less than 2.5 for a continuous beam

Which of these stalemenis are correct?
(@) 1and3
{b) tand4
{c) 2and3
(d) 2and 4

Atwhal stress does the lirst flexural crack appea]
in ACC beams made of M25 grade concrele ?
(a) 3.0MPa {b) 3.5MPa
{0) 4.5MPa

The deflection including lhe elfects o
lemperature, creep and shrinkage occuring alte
erection ol partitions and the applicalion o
finishes should not nermally exceed

{a) span{350qr20mm

{b} spanf350or 25 mm

(€} spanf250or 20 mm

{d} span/2500r25mm

Avreinforced concrete beam s designed for tha
imit stale of collapse in flexure and shear. Wivich

of the foliowing limit states of serviceability havy

Limit btate of Serviceability

Qs

Q7

Q.8

RCC & Prestressed Concrete

‘& Deflection

{0 be checked?

3. Deflection

2. Cracking

3. Durability

The correct answer is
(@) Only1

{c) Both 1and3

(b) Both1and2
(d) 1,2and3

Areinforced cantilever beamof span4 m, hasa

cross-section of 150 x 500 mm. il checked for

lateral stability and dellection, lhe beam will

{a} failin deflection anly.

(b) fail in laleral slability only.

{¢) failin both deflection and lateral siability.

{d) satisly the requirement of deflection and
lateral stability.

A simply supporied rectangular beam of span
20.0 mis subjected tu a unilormly distribuled
load. The minimum effeclive depth required (o
check deflection of this beam, when modification
tactor for tension and compression are 0.9 and
1.1 respectively, will be
{a) 20m

(c) 1.3m

{b}) 1.8m
{d) 1.0m

Faor a simply supporled beam of span 15 m, the
minimum elfectiva depth {o satisfy the vetical
delteclion limit should be

(a) 600mm {b) 750mm

(c} 200mm (d) morethan1m

Which ol the {ollowing faclors influence the crack
vidihs in RC members subject to flexurs, lension,
or eccentric lension;

1. tensile siress in sleel bars

2. Ihickness of conciete cover

3. diameter and spacing of bars

4, depih ol member and location ol neutral axis



Qs

m Limit State of Serviceability & Deflecfion
5. {c)

5. Bond strangth and tensile strength of
concrele '

(@) 1,2,3,40nly

(b} 1,2,3 and S only

(c} 1,3, 4only

(d) Al of the above

A lwo-way slab (solid slab) having spans (3.5m
x 6 m) wilh high-sirength deformed bars as

1.(b) 2 (b) 3.{a) 4.(b)

6. () .7. (l;) 8. {d)

reinlorcemenl (Fe 415), is having uniformly
distribuled load of 2 kN/fm?. The minimum depth
requirement of slab lrom sarvice abilily criteria
assuming it as conlinuous slab;

(a) 210mm (b 110mm

¢y 190mm {d) 310mm

Limlt State of Serviceabllity & Defiaction

2,

6.

(b)
Flexural strength of cancrele is given by

=07t = 07425

=07 x5 =35 MPa

(c)
Foracanlilever
L
p g7
In this case
E = @9=8 »>7
d 500

Hence it fails in deflection.
For laleral stability, L shall not exceed 25 b nor
100b7%/d whichever is less.

Nowe, 250 = 25 % 150mm =375 m
But L=4m
Hence it Iails in lateral stability also.
(a)
L
i afiyodr
«=2
P =10/span,v=0.9,8= 1.1, 1 =1
10
- = 20x—x0, 1.1 =
g = 20xgx09x11=99
= d= 20 =202m

99

7.

9, (b)

(b)
For simply supported beam,

L

a <X

L 150

= dZE=-§E—=750mm
{d)

When fimiting tensile sirain of concrete is
exceeded al weakesl location a llexural crack will
form and concrele in the regions adjoining \he
crack will nelonger be subjected to lensile lorce,
In all cases of applied loading, the widthof crack
is lound 10 be maximum al the surface.

(0)

Shorterspan, [, = 3.5 m = 3500 mm
i

Vi Lo '

We know, D 40

{for mild steel reinforcement)
(As per 15 : 456, clause 24.1)

{
=2 é =40 x 08
(lor HYSD reinforcernent)
= 0= §gﬂ':109,3-?5mm
32
= D~ 110mm



